ax’+bx =c¢
Steps to follow when solving by Completing the Square:

To solve by completing the square you MUST have

1. Get the equation into the following form:  x? + bx =cC
a=1
2. Complete the square so the equation becomes: (x - h)? =k
3. Solve for x using Square Roots. Solving by completing the square is easiest if:
b is even
Solve by Completing the Square. 2 +14x-3=0 Solve by Completing the Square. 2 -20x+7=0
X2+ 14x-3=0 x2-20x+7=0
= 33 =F =7
X549k il = D 4T x&—?,oi;ie_o—— —7T Hoo
5 i .‘b Lf Complete ;&7
omplete
the s%uare(X + 7> the square < N /D>
(<+7)" Q| Sz =V - =\ 73
x+7= 23 x-10= £V73
=3 =] +/O g

><:—71"Z_\rl—g X= /Q—l-‘\r({7>



Solve by Completing the Square. 2x2-36x+10=0

2x2-36x+10=0
=V =

2X2-_,3@< =—/0
Z— Z
X —(Ex X8 = -5 45l

Complete & /

the square C)( 7)

(60T ~7E -

X"? - xahg
+9 +9

\=92a0)5

Solve by Completing the Square. X -6X+23=0

-6x+23=0

-2 3

X Tlox 1 = -232 49

Complete >l7 j

the square

X-3)*"
(= =\~/%
x-3= 204

+3 3

X= TR

Solve by Completing the Square. X2 +21 = -10x

e
X +21= -10x
N

XTp/oX 25 = —2/ +25

Complete %7 /

the squa re ES) 3.

S

x+S=T2
)
W=y =25

Solve this equation using any method.
X2+ 2x-1763 =0

X2 +2x-1763=0

X2+ 2x- 1763 =0 O e
r2x F =1/7
— 1762 S | {] o 3
N o
& ()™= Vs
ey & -ad=o X4l = 142,
X:—L“)"L}S : !

21 -y~



Rewrite this equation into Vertex Form:

y=x2+10x-7

y=x2+10x-7
7 +7)

;’l””—? 125 = XEHloX *2S

$%"\ lede.

<><+ S)l +he Sguarz

JF3L = (x+)>
ey = .

Y= (x+5) =32,

Rewrite this equation into Vertex Form:

y=2x%-12x- 11
y=2x2-12x- 11
+1l + 1)
2
ZQ-H\ = 2x7—12X > dbj—l—ll = Z_CX~%) —1§
2= 20 —// =

;1=2(x—’>)L~2_9

Rewrite this equation into Vertex Form:
y = %% - 6X +1

y = X% - 6x +1
- -1

9—1 H o= X=bx =1
'47 /ﬂomﬁe)&
(x-3* ﬁu“(e

= (="
-% _ g

Y= (x-3)"-§

You can now finish Hwk #17
Sec 5-7
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Problems: 7-9, 15-18, 31-32



